
Giải bài 1 trang 90 SGK Toán 4 tiết Luyện tập chung

Bài 1 (trang 90 SGK Toán 4): Viết số thích hợp vào ô trống:

	Thừa số
	27
	
	23
	152
	134
	

	Thừa số
	23
	27
	
	134
	
	152

	Tích
	
	621
	621
	
	20368
	20368


	Số bị chia
	66178
	66178
	
	16250
	16250
	

	Số chia
	203
	
	326
	125
	
	125

	Thương
	
	326
	203
	
	130
	130


Lời giải:
	Thừa số
	27
	23
	23
	152
	134
	134

	Thừa số
	23
	27
	27
	134
	152
	152

	Tích
	621
	621
	621
	20368
	20368
	20368


	Số bị chia
	66178
	66178
	66178
	16250
	16250
	16250

	Số chia
	203
	203
	326
	125
	125
	125

	Thương
	326
	326
	203
	130
	130
	130


HỌC TẬP - LỚP 4  - TOÁN LỚP 4

